" DRILL CHART
s 3§ POST #] _ "L°
1 1'=3 1/74*
s m— 2 -3
POST “1~4" 4 3|2 1/1&’
4 1'-2 3/8"
r1§ | —6 3/8"
l 1 ] _¢_
1, D | e%»
55" | |
bl -3 i
}—% 1 & i
|
nLu ] M [
PER CHART ‘ ! &
i Fervey)|
3 I €I H
O liithe
(TYP.) " : 3.
8'-0" wexesAa A | Fé?:{ U
o GALV. L
| (TYP.) \¢
lll 1|o_-!
| CONNECTION PLATE DETAIL
g".-_l T ¥ T 2,_3" T
1113
11"
a7
—{ 3 -——1 —| aft—
1"x1* CLIPPED CDRN‘ER\
’ !
10~ 'li—‘é} o & 4 :
1'-1{%" & 1176
l & & ——l #
3'x6" CLIPPED CURNER7\ gy (%) \_ o8 (20

This Cop Needs to press fit

This Cap Needs to press fit

g

nside ?1?&4'*3'*3"6' Lo 4 inside of o 4°x4"x1/4* Tube BILL OF MATERIAL <621.72) WW-1 & WWw-2 (EACH)
f T | T —— ¥ & aTY DESCRIPTION ASTM DESIGNATION
N : E 3 T e
> |k ﬁ ] 1he l 1 |THRIE BEAM TERMINAL CONNECTION (10 Go) AASHTO M180
| Eé' 1 |THRIE BEAM TRANSITION €@ 7'-3 1/2° <10 Ga) AASHTO M180
OI af} 1_|CONNECTION PLATE M270 Gr. 36
j 7w . ﬂ,—mm ﬂ 1 33 2 |12’ 6° THRIE BEAM (12Ga) AASHTO M1S0
= 7 8 4 _|W6X25 POST @ 8-0° (PUNCHING VARIES - POST 1~4) AS572 _Gr. 50
— | 1 _|DEFLECTOR PLATE (APPROACH OR TRAILING) A36
T R 1_[8” X 4 X 5/16° RAIL € 9'-4 AS00 Gr. B
Punch 128 In e 1 _|4" X 4" X 1/4" RAIL & 9-4 AS500 Gr. B
= L 1_[8” X 4 X 174" END CAP A36
=/ 3 1_[4" X 4 X _1/4" END CAP 436
T "% 3 g 11 3/4° 4500 Gr. B
Cemtter of lpe. 3}&' 1 |7 x 3" x 3/8" SPLICE TUBE e 1' 11 r.
o 1_|3" x 3° x 5/16" SPLICE TUBE @ I 1l 3/4’ AS00 Gr. B
afyr—| e 8 ¢ 3/4° SCH., 40 PIPE @ 1/2° AS3
r ﬁ; 8 |# 5/8° X 1 3/4° HEX BOLTS A307
b8 g § |# 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307
A I 7 |0 3/4° X 6’ CARRIAGE BOLT, & NUT A307
&' ¥ _I_ L 1 _|# 3/4” X 2" CARRIAGE BOLT, & NUT A307
= ]‘ 19 |@ 5/8° X 1'-6° BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT__ |A307, A36, F844 or 307, & AS63
T I I— 32 |¢ 5/8° X 1 174" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307
- l——+——1  vermont Agency of Transportation 19 [3/16” SPEC. PLATE WASHER @ 1 3/4" X 3° A36
RECEIVED 16 |# 3/4" X 6 ROUND HEAD BOLT, F.W., LOCK W. & NUT A449, F436, ASME BIB.2LI, & A563
10 |6 X 8° WODD POST € 7/-0° TIMBER
ON:  June 9, 2014 9 |6 X 8 WOOD BLOCKOUTS € 16 TIMBER
and Checked for 1 |6 X 8" WOOD BLOCKOUTS @ 1’-2* TIMBER
CONFORMANCE 10 |# 7/8° POST BOLT @ 187, F,W. & NUT F568, F436, AS63
BY: Jennifer Fitch DATE: 06/09/2014
HARDWARE APPLICATION
ary DESCRIPTION ASTM DESIGNATION APPLICATION
A | B8 |8 5/8° X 1 3/4 HEX BOLTS A307 USED IN SPLICE TUBES
B | 8 |f 5/8" FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307 FOR SPLICE TUBES,
C | 7 |# 3/4° X 6° CARRIAGE BOLT, & NUT A307 TERM, CONN, & CONN. PLATE 10 RAIL
D 1 |# 374" X 2" CARRIAGE BOLT, & NUT A307 DEFLECTOR PLATE TO CONN. PLATE
E | 19 |9 5/8 X 1'-6" BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT__ |A307, A36, F844 or A307, & AS63 |THRIE BEAM, T0 OFFSET BLOCK, 10 6x8° POST
F | 32 |# 5/8° X 1 1/4° BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. 4307 FASTEN PANEL COMPONENTS TOGETHER, C(THRIE, TERMINAL CONNECTOR, TRANSITION SECTION)
G | 19 |3/16° (SPECIAL) PLATE WASHER € 1 3/4° X 3' A36 USED IN PANEL VALLEY, W/ 18° BOLT
H | 16 |# 3/4" X 6" ROUND HEAD BOLT, FL. WASHER, LOCK W. & NUT A449, F436, ASME BIS.2L1, & AS63|[FASTEN 4X4 & 4X8 RAIL TO RAIL POST 1~4
2= b EXPANSION SPLICE FOR: TSdx4x1/4”
PREVALING ~~TYPE AWIDE PLAIN WASHER _E_ @.824 (REF) '
TORQUE (13/16" x 2" x 5/32") 1/8" 1,050 (REF) $5/8° TAPPED HOLE (2@x )
TYPE LOCK < sLoT @ 3/4° I 2 R4 A TS3x3x5/16¢
NUT @ 3/ 1/8" ~11/2" 3/4" SCH. 40 PIPE SPACER ————A e ———— _/_
I
— jx__gt_ﬁpj>§__T_ Il
—'—Eg‘ I 1%&__ |
A|1 A —| [~3/8" MIN. i o -5
d 1! " 4 x
A 449 (TYPE 1) ASTH 436 1-98 AS00 Gr. B
ROUND HEAD BOLT = . & -3
3%" 32°{:'EF- o /8° NUT(@ DUTER HOLES ONLY)
2"— . 0033.90055 TACK WELD
—l s /
,{. '$;:—| DEFPL-LTXT _ e
" . ] - . I
EXPANSION SPLICE FOR: TS8x4x5/16 —gr—| NIS/IT X L /@7 SLOT __,!,__I_.__,,__m_:l -]
——1-0f— 2 EA
TS7x3x3/8"

DEFLECTOR PLATE DETAIL

SHOP DRAWING REVIEW

DRAWINGS ARE FOR COMPONENTS,
SSEMBLE PER STANDARD S-360B

[ REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS ’TL'EAMIOV#'B@ZY}ILV?@R | SHEET 1 OF 4
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT [TO—PURTHER-HHWTATIONS—AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.
e " wAPPRQYED BY & RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION
4 Ecns#on COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR HESTER, BRF 0162 (18) VT RTE 73 (MAIOR COLLECTOR), BRIDGE NO : 15, OVER WHITE RIVER
oM COMPTIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND| GENERAL COMPLIANCE WITH THE R[NO. [DATE| DESCRIPTION BY| R I[NO.] DATE DESCRIPTION BY
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTR 1 :
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING ;:;;.221'.;25 :%NCSEI:SL:SF(:ZDC?EN;LT\J’?(LTJGE:';? El 1 6/6/14 [REVISED PER 5/30/14 MARK-UP |EP.| E
e e e e e e e e e o) CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A v | \4
5/8" NUT<e OUTER SAFE AND SATISFACTORY MANNER. 5 TR DRAWN EP. 516114
HOLES ONLY — ELDERLEE.INC. | UW)ETR] checken [ oL snom
THCR WELD VHB |revoveas 0 lesse OAKS CORNERS, NEW TORK 14518 ACEROVED |_. :
MODIFICATION TO P/N 5143.40056 ) YA e dlos & SCALE SCHEMATIC
TO CREATE P/N S143.90056 —r—— e e R pate: 0-9-14 E-Mail: dlong@elderlee.com Tl
) : Tel:315-789-6670 Faxz:315—-789-6615 DRAWING NO. FA.L ROCHESTER, TR19



Jfitch
CheckForConformanceFields


|-10%"(I'YP]-
126" Py 6}"” YP)
3/4° x 2 1/2" SLOT (16 o [ i
Q /O (@] (@]
| @) : [@) O (@]
T o o ——— e — = — — _-..-.......O.—(E_ o | Vermont Agency of Transportation
5
K 5 5 5 S RECEIVED
i e —————— T — o o E—x——r——rr—— = ————o———————————— TS .
| o o T o [ o ON:  June 9, 2014
/o (@) ®) 5 and Checked for
6'-3"(TYP) BY: Jennifer Fitch DATE: 06/09/2014
13-64"
89/33”(82;) 1787 SLOT WW 1, 2, & 4 - STRAIGHT, WW 3 - SHOP CURVE 34/-6” CONVEX RAD,

gu

9!_4“

—7-113
——7'-8%

1"

—5-9y

3“

SHOP DRAWING REVIEW

45!

61"

' 3“
3-7%

[J REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[ REJECTED m REVISE AND RESUBMIT [J FURNISH AS CORRECTED

3-4

_1 "5Z"—

@ 13/16" THRU, (8X)

1!1

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

27917

Job Number:
By DI B Masse

Dete: 0914

VHB

107"

6“3"

1"

_7!_1 1 Zn

9!_4“

7l 84"

/—mn 6" THRU (8X)

51 94"

—5'6 4"
375" 1
34y ——
_1 '_52"_.

' 1|| B
_|1 ‘24 _

TRAILING RAIL

PN

| |
e

51" THRU (4X)

@1 1/8"(+1/16 / -0") x 3 1/2" (2X)

BOTTOM ONLY

_2"

"~ ——01/2" DRAIN HOLE —
BOTTOM ONLY

WW 1 - STRAIGHT

—ADD PRESS FIT END CAP WW 4 - 15'-0” CONVEX RAD.
(SEE “PIE CUT” LOCATION DETAIL>

THIS END ONLY

16 T

_2||

I
_—-6}" 8:“

2“

\@1" THRU (3X)
@1 1/8"(+1/16 / -0") x 3 1/2" (2X)

7%"
_3_
l_ 2

BOTTOM ONLY

2!!]

BOTTOMONLY 1 - STRAIGHT 8
—ADD PRESS FIT END CAP

THIS END ONLY

ITEM #:621.72

wWW 4 - 15'-0* CONVEX RAD.
(SEE “PIE CUT” LOCATION DETAIL>

| SHEET 2 OF 4

APPROVED BY:

4 RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION

ROCHESTER, BRF 0162 (18) VT RTE 73 (MAJOR COLLECTORY), BRIDGE NO : 19, OVER WHITE RIVER

TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT

DATE [ DESCRIPTION BY| R |[NO.| DATE DESCRIPTION __[BY
6/6/14 Ihzwssu PER 5/30/14 MARK-UP [EP.| E
v
DRAWN EP. 5/16/14
CHECKED D.L 5/16/14
APPROVED | . .
- ¥ SCALE | SCHEMATIC
Tel:315-789~6670_Faz:315-789-6615 DRAWING NO. F.A.L ROCHESTER, TR12



Jfitch
CheckForConformanceFields


Vermont Agency of Transportation

RECEIVED

ON:  June 9, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 06/09/2014

BILL OF MATERIAL <621.72) WW-3

aTY DESCRIPTION ASTM DESIGNATION
1 |THRIE BEAM TERMINAL CONNECTION <10 Go) AASHTO M180
1 _|THRIE BEAM TRANSITION € 7-3 1/2° <10 Ga) AASHTD M180
1 |CONNECTION PLATE M270 Gr. 36
2 |12 6" THRIE BEAM (12Go) W/ 34'-6" RAD AASHTO M180
4 |W6X25 POST @ 8-0" (PUNCHING VARIES - POST 1~4) AS72 Gr. 50
1 EEFLECTDR PLATE (APPROACH OR TRAILING) A36

1 8" X 4" X 5/16” RAIL @ 9'-4" W/ 34'-6" RAD. AS00 Gr. B
1 [4" X 4° X 174" RAIL @ 9'-4" W/ 34’-6" RAD. AS00 Gr. B
1 8" X 4" X 1/4" END CAP A36

1 14" X 4" X 1/4" END CAP A36

1 |7 x 3" x 3/8° SPLICE TUBE € 1' 11 3/4' AS00 Gr. B
1 3" x 3" x 5/16" SPLICE TUBE @ 1’ 11 3/4 AS00 Gr. B
8 3/4" SCH. 40 PIPE € 1/2” AS3

8 |o 5/8° X 1 3/4" HEX BOLTS A307

8 |9 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307

7 |# 374" X 6" CARRIAGE BOLT, & NUT A307

1 |9 374" X 2" CARRIAGE BOLT, & NUT A307

[# 5/8" X 1'-6" BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT

A307, A36, FB44 or 307, & ASE3

@ 5/8" X 1 1/4" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W.

A307

19 [3/16° SPEC., PLATE WASHER € 1 3/4° X 3’ A36

16 |# 3/4" X 6" ROUND HEAD BOLT, F.W., LOCK W, & NUT A449, F436, ASME B18.211, & AS6E3
10 |6 X 8 wOOD POST @ 7/-0° TIMBER

9 |6 X 8" wODD BLOCKOUTS 8 1'-6" TIMBER

£ X _8° WOOD BLOCKOUTS € 1'-2* TIMBER

@ 7/8° POST BOLT B 18", F.W. & NUT

F568, F436, AS63

9!_4“

7!‘_1 1 le

7!_81|!

__31_4111

3“1

1 1 n
>34
4

5"“91“

213 16"

l_2!1 *i" _1"22*

8:" 6I" /1 ] T

e s s s— e
i i 1 1
T T T T

00][6)

YI!

21" THRU (4X)/

11/8"(+1/16 /-0") x 3 1/2" (2X)
BOTTOM ONLY

T 534

16

M
1
TH|

Imai

\@'1/2" DRAIN HOLE ——

211_ I

21|_|

SHOP DRAWING REVIEW

[J REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[ REJECTED

] REVISE AND RESUBMIT [ FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

Job Numper:___ 27917
py: D Masse

Date: 6 9 ‘4

VHB

9!_4“

P-15—

7!_81"

3
599
4

5'-6

APPROACH RAIL

1 53"

l"___ 1 A
471124

3!_7Z"_

3l 41"

@13/16" THRU (8X

10"

(\3"
°4

21"

||
it

§

32 ——I

4"-_ 7___u
2 11/8"(+1/16 / -0") x 3 1/2" (2X)
: BOTTOM ONLY

@1" THRU (3X)/

ol

[:}{43@/

T T _’

g

WW

WW
(SEE

ITEM #: 621.72

C BOTTOM ONLY

3 - 34'-6" CONVEX RAD.
‘PIE CUT” LOCATION DETAILD

7..L ———31/2' DRAIN HOLE/ ol Lol

ADD PRESS FIT END CAP—
THIS END ONLY

| SHEET 3 OF 4

APPROVED BY:

TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT

& RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION

ROCHESTER, BRF 0162 (18) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 19, OVER WHITE RIVER

DATE | DESCRIPTION BY| R [NO.| DATE

DESCRIPTION BY|

6/6/14 |REVISED PER 5/30/14 MARK-UP |EP.| E
[

SWW 2 - sTRAIGATEOT TOM ONL::JD PRESS FIT END CAP ELDERLEE, Ive, (PR cieciest 5 —~ev
WW 3 - 34'-6" CONVEX RAD. = it APPROVED | . ;
(SEE “PIE CUT” LOCATION DETAILD THIS END ONLY g =i Rl SCALE | SOHEWATS

Tel:315-789-6670 Fax:315-789-6615 DRAWING NO. Fi.L ROCHESTER, TRIS



Jfitch
CheckForConformanceFields


BILL OF MATERIAL <621.72) WwW-4

|
ary DESCRIPTION ASTM DESIGNATION
1_|THRIE BEAM TERMINAL CONNECTION (10 Ga) AASHTO M180
1 |THRIE BEAM TRANSITION @ 7'-3 1/2° <10 Ga) AASHTO M180
1 _|CONNECTION PLATE M270 Gr. 36
2 |12’ 6 THRIE BEAM (12Ga) AASHTO M180
4 |W6X25 POST B 8-0° (PUNCHING VARIES - POST 1~4) A572 Gr, 50
1 |DEFLECTOR PLATE (APPROACH OR TRAILING) 436
1 |8 X 4" X 5/16" RAIL @ 9'-4" W/ 15-0" RAD. AS00 Gr. B
Il 1 T[4 X 4° X 1/4* RAIL @ 9'-4" W/ 15'-0° RAD. AS00 Gr. B
1 [8" X 4° X 1/4° END CAP A36
1 [4” X 4" X 1/4" END CAP A36
1 |7 x 3" x 3/8" SPLICE TUBE @ 1’ il 3/4" AS00 Gr. B
1 3" x 3" x S/16" SPLICE TUBE @ I’ 11 3/4” AS00 Gr. B
8 |p 3/4° SCH. 40 PIPE e 1/2’ AS53
8 |# 5/8" X 1 3/4" HEX BOLTS A307
8 |0 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307
7 |9 3/4" X 6° CARRIAGE BOLT, & NUT 4307
1 |# 3/4° X 2" CARRIAGE BOLT, & NUT A307
19 |6 5/8° X 1'-6° BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A36, FB844 or 307, & AS63
36 |[¢ 5/8” X 1 1/4° BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. 4307
19 [3/16” SPEC. PLATE WASHER € 1 3/4° X 3° A36
16 |9 3/4° X 6° ROUND HEAD BOLT, F.W.,, LOCK W. & NUT A449, F436, ASME BIB.2L1, & AS63
‘ 10 |6 X 8 WDOD POST € 7'-0° TIMBER
9 |6 X 8" WwDOD BLOCKOUTS € 1’'-6’ TIMBER
1 |6 X 8° WOOD BLOCKOUTS @ 1'-2’ TIMBER
10 |#¢ 7/8° POST BOLT @ 18°, F.W. & NUT FS68, F436, AS63

EXPANSION SPLICE FOR: TS4x4x1/4”"

85/8" TAPPED HOLE (2x
2 3/4‘-\ I

ATS3x3x5/16°

W/ 4° BEND
FOR WW 4

EXPANSION SPLICE FOR: TS8x4x5/167

1-58"

1'-98*

1/
4

13"

/87 NUTe DOUTER

HOLES O

TACK WELD

LY>

wWwW 3, 15-0*
WW 4, 34'-6"
29"

ING PIE CUT LOCATIONS @ WW 3 &4,
ONVEX RAD. ON FACE 0OF RAIL.

PS 3003 (TYP)

ONVEX RAD, ON FACE OF RAIL
15" 16"

1 e — 4 1 —— 1 T O—
- -
|

Eits
I

TS7x3x3/8"

W/ 4° BEND
FOR WW 4

Vermont Agency of Transportation

RECEIVED

June 9, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 06/09/2014

ON:

SHOP DRAWING REVIEW

[J REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[ REJECTED M REVISE AND RESUBMIT ] FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

57917
D Masse

6-9-14

Job Number:

VHB

Reviewed By:
Date:

ITEM #:621.72

| SHEET 4 OF 4

APPROVED BY:

2 RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION

ROCHESTER, BRF 0162 (18) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 19, OVER WHITE RIVER
TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT

DATE | DESCRIPTION BY| R [NO.| DATE | DESCRIPTION _|BY
6/6/14 |REVISED PER 5/30/14 MARK-UP |EP.| E
|
DRAWN | EP. | B/i6i4
ELDERLEE,INC. by CHECKED | DL | &/i6/14
OAKS CORNERS, NEW YORK 14518 APPROVED | . .
E-Mail: @elderlee.com. SCALE | SCHEMATIC
Tel:315—-789—-6670 Fax:315-789-66156 [DRAWING NO. FRL ROCHESTER, TRIS



Jfitch
CheckForConformanceFields


WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE#3

Vermont Agency of Transportation

RECEIVED

ON:  June 9, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 06/09/2014

Material Specification A500 GR B
Welding Process FCAW
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT / HORIZONTAL
Filler Metal Specification Ab5.20 - 95
Filler Metal Classification EB81T-Ni1C-JH4
Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
+ WELDING PROCEDURE .
Pass Electrode Wsiding Current Travel Joint detail
no. size Amperes Volts speed
116 310 25 11
Variable LIMITS 341 27 12
TO TO TO T
269 23 10

F Tl

- X

SEQUENCE OF WELD PASSES SHALL
BE SHOWN DIAGRAMATICALLY

SHOP DRAWING REVIEW

[J REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[J REJECTED w REVISE AND RESUBMIT [ FURNISH AS CORRECTED

‘CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
'CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

Job Number:___ 27917
VHB

gy D Masse

Date: 6-9-14

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No.

3003

Revision No.

Form lii-2

Contractor Elderlee, Inc.
Authorized By RANDY SCOTT
Date 5/8/2014



Jfitch
CheckForConformanceFields


Material Specification

WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3
ASTM-A500-A53-GRADE B TO A36

Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding 1G
Filler Metal Specification AB.29
Filler Metal Classification EB1T1-Ni1C-JH4
Flux NIA
Shielding Gas Cco2 Dew Point -40DEGF FLOW RATE 50 CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER. D1.5
Postheat Temperature NONE
Heat Input Min Max
' WELDING PROCEDURE
Pass Electrode e Travel Joint detail
no. size Amperes Volts speed
1 1116 310 25 11
Variable LIMITS 3 27 12
TO TO TO
269 23 10

SHOP DRAWING REVIEW

[J REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[ REJECTED [} REVISE AND RESUBMIT [J FURNISH AS CORRECTED

1/8"

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

Job Number: _ 975‘7

VHB |onis, s

Date: 6-9-14

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

3012

Contractor  Elderlee, Inc.

Revision No.

Authorized By RANDY SCOTT

Date 3/20/2014

Ve

t Agency of Transportation

RECEIVED

ON:  June 9, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 06/09/2014



Jfitch
CheckForConformanceFields


